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ϕ(x, y) = λ
∫ 1

0
dξ

∫ 3

0
dηx2ξ2yηϕ(ξ, η) + xey

Separace jádra:
ϕ(x, y) = λx2y

∫ 1

0

∫ 3

0
ξ2ηϕ(ξ, η)dηdξ + xey

Označ́ım konstantu:
C =

∫ 1

0

∫ 3

0
ξ2ηϕ(ξ, η)dηdξ

Pak má řešeńı tvar:
ϕ(x, y) = Cλx2y + xey

Určeńı konstanty C:
C =

∫ 1

0

∫ 3

0
ξ2η(Cλξ2η + ξeη)dηdξ =

∫ 1

0
(Cλξ4

∫ 3

0
η2dη + ξ3

∫ 3

0
ηeηdη)dξ =∫ 1

0
(9Cλξ4 + ξ3(2e3 + 1))dξ = 9

5
Cλ+ (2e3 + 1)1

4

C = 1
1− 9

5
λ
(1
2
λe3 + 1

4
) = 10λe3+5

20−36λ

s podmı́nkou: λ 6= 20
36

= 5
8

Řešeńı je tedy:

ϕ(x, y) =
10λ2e3 + 5λ

20− 36λ
x2y + xey (1)
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